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QUESTION 1

What does each trace in the SQL trace correspond to? 

A. Exactly one ABAP statement 

B. Exactly one Open SQL statement 

C. Exactly one Native SQL statement 

D. Exactly one execution step of a statement at database level 

Correct Answer: D 

 

QUESTION 2

Which transactions will usually give you information about an update that terminated with an error message? (Choose
two) 

A. SM12 

B. SM13 

C. SM21 

D. ST11 

Correct Answer: BC 

 

QUESTION 3

What is the ABAP Dictionary used for? (Choose two) 

A. To define database objects, for example, tables and views on the Database. 

B. To maintain Services for programs and screens, for example, F1-help, search help (F4), Lock object (enqueues) 

C. To maintain ABAP programs. 

D. To maintain documentation (for example, documentation on customizing activities or the application help of a
transaction). 

Correct Answer: AB 

 

QUESTION 4

Which of the following statements accurately describe a client in an SAP system? (Choose two) A. A client represents a
completely independent business entity. 
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B. A client has its own database. 

C. A client corresponds to a customer. 

D. A client may represent an entire company. 

Correct Answer: AD 

 

QUESTION 5

Which of the following are events of a report program? (Choose two) 

A. AT LINE-SELECTION 

B. INITIALIZATION 

C. PARAMETERS 

D. AT TITLE-PAGE-OUTPUT 

Correct Answer: AB 
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